CiS SUE AMLH AIX| SR YH AHY £2 DS

=5 4Y/HIE o[0ix|

oY
THE!:
S U U ITIH T E AEHO|H ST H5t AE

S U U Y £ st L Aok X2I(HRC 55 +2)
05 284 52 2 22 A BAZ el B 2 Aolx Elo|lm{ 2= Z;I§|.7 olAFdX 2.
auw Y mWﬁ%@
e S . e s g=:
= = CtE 23E AARE ChFEF QIETH|O|AE Sall B&E = U&LICHA
=T EHL EZ HNES SHEHZ 0x]. 1H 22 = ofF XL 17
& 4 QlaLch,
e 7 2. DINO| I8 &3 3= A3 58 28 &3 A4 27240] 200mmel
: i o OIH|- 7(“;7(4 E.EH.\éI A|AE1I2 @25mm -r|7_<| % |¢ 7|-7=|o| 96mm
Ol M2 S AIAHS g16mm ?Ix| 5. T-&% E1|0| oMz &
e — 712 Mg QI8 18H70| U= Ml 7He| Xz 'E‘% 6 T+ 7+H0l40 &
' 50mm@l 22|E AARE UE 7 @12F7 & J16F7.
| Ml 7HR| CHE HTE AP E = /&L
e e e e DX EQ ES/K18280| Ql= UM CHE S A|AR Qx| 2Y=
M -1 £2 DS/K18297t Q= ¥ CHE BT AlaH Qx| 2=,
S » -os —;-E.z”%,' A2 1M T2 ES/K18300| QE $H% Hoi Qx| 2
= v
Q % =
‘ 71& GI0|E:

AAE ZE 50
Z|cH 2 E 1}2: 20 kN
Z|CH =& E3: 50 Nm

AAE £ 72
Z|cH 2E 142 30 kN
Z|CH 2 E3: 65 Nm

AlAEZ 100
Z|cH 22 mt2l: 40 kN
Z|CH =& E3: 100 Nm

o|E:

Z0|7} CHE of BT AIAHS M2 oM £ LiEHs| ZRIE 4
AUeLct He 7|02 1 ™A 29| O HEEt HHX|7|' Jts g
ST ol A =302 1R 520 RE AXIE 7S sn
=0l Aol SUNA ZHE + LI BT LA B0lE AES

St A OlA
ZEE = J&Lich

o|u|-7t-|o§ S5 AL VIS,

e ol 2Eo|M 2 720 ZEMKLE & oAl 02 JHol B
= AlA=ol M M2 Ll 18E 25 laLic

23 U

1x BT Y

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/6



Cs &

=5 4Y/HIE o[0ix|

© HEINRICH KIPP WERK GmbH & Co. KG

R AIAE K| S

HMIAZ]:

EYZ 2 E K0967.

AI2IE LEAF K0869.

I LFAF K0815.12045 / KO815.16055.
&8H K1752.

713 {77t U= B & K1753.
Z2|E& K175471 Q= EF &,
ZE2 K| K1755.

A O|M K1756.

%E.'—_*.*E ME K1757.

T&2 HE K1758

= +0I_ £ E K0954.

37|of et CHE

LcH (£

www.kipp.com - info@kipp.com 2/6



Cl= Seid A AH] 9fIX]| Sei= 2kH ¥ &2 DS
Ly |
B L6:002 .
o L5:0,02 |
- L4:0,02 o
| 32002 il
- [ 9%002 =]
L1:0,02= %
i \
Boe— 000 0460 O 0O ool
_/_ 1817
M6 V6
D6 xn
o 9
2 g
My e D2
S tle %F 3 '%Bl 12 T
S ;
-~ 1 |: //
- | B n7;
i v
B=v D5 D}«FF"

m |||i||||||l||||||||||IIIII|||l|||||l|||||||||||||||
AS

19 “=“

u |||III||||III|||l!I|||[III|||l|||||III||||III||||II

HII]I||[II||||i'IIIIIII|H|IIIHIIIIIIUIIIIHIIIII |||||II]III[IIIIIIII‘||i|]l||||||||Il[.'I'Il||||||||||[Il|||[II|||l||||||||||||||'||||[|1|'||m
I=EEOE O O O)E=] ] OICKEXO)

||||HI]I||[II||||!ﬂllllllHIlIIIHIII]II\!IIJIHII]II

© HEINRICH KIPP WERK GmbH & Co. KG

i

[/ LU

IO

III||||II||||[II|||[II|||IIl||||l||||||||||||[|1||||u

www.kipp.com - info@kipp.com 3/6



T
Jo
f0

n
ol

PR
OO0 © ) - ©

VA

e O m

]
)

WO | L/
©)— {0 ©— 0 - {0
i

B=100 <L
——I—‘<— NK NW NF
L7 D7 = 7/7
= 07 I A
- 1
s 4 + +
Eié_ 20 15 10 + 5 ¢ a0 15-¢- 20 +25
B\ 7
L ux“

Ol
Ll gy

AT N
N=E N =\ A7)
R0 6 O ¢

L

!

Ok
=

I AIAE YK SUS Y DY £ DS

o

© HEINRICH KIPP WERK GmbH & Co. KG

:
©

T T

www.kipp.com - info@kipp.com

4/6



(
CI= ST ALAH X SR= $H 0 £ 2 DS
== g9
FEHS B 2E 1 L H L L L1 L2 L3 L4 L5 L6 L7 ZEHEH T EF
min. max. max. kN max. Nm
K1829.05030001 50 oime{® 300 75 445 505 96 200 - - - - 44 20 50
K1829.05040001 50 oizzed2 400 75 445 50,5 96 200 288 300 - - 44 20 50
K1829.05050001 50 oie{® 500 75 445 50,5 96 200 288 400 - - 44 20 50
K1829.05060001 50 oime{® 600 75 445 50,5 96 200 288 400 500 - 44 20 50
K1829.05070001 50 oizzed2 700 75 445 50,5 96 200 288 400 560 600 44 20 50
K1829.05030002 50 MlzlolM 300 75 445 50,5 96 200 - - - - 44 20 50
K1829.05040002 50 MlzlolMd 400 75 445 50,5 96 200 288 300 - - 44 20 50
K1829.05050002 50 Mol 500 75 445 50,5 96 200 288 400 - - 44 20 50
K1829.05060002 50 Mlzlold 600 75 445 50,5 96 200 288 400 500 - 44 20 50
K1829.05070002 50 MlglolMd 700 75 445 50,5 96 200 288 400 560 600 44 20 50
K1829.07240001 72 Oi11e42 400 112 61 68 96 200 288 300 - - 65 30 65
K1829.07250001 72 Oizs42 500 112 61 68 96 200 288 400 - - 65 30 65
K1829.07260001 72 oimei® 600 112 61 68 96 200 288 400 500 - 65 30 65
K1829.07270001 72 oizzed2 700 112 61 68 96 200 288 400 560 600 65 30 65
K1829.07240002 72 MlzlolMd 400 112 61 68 96 200 288 300 - - 65 30 65
K1829.07250002 72 Mlglold 500 112 61 68 96 200 288 400 - - 65 30 65
K1829.07260002 72 MalolM 600 112 61 68 96 200 288 400 500 - 65 30 65
K1829.07270002 72 Mlglold 700 112 61 68 96 200 288 400 560 600 65 30 65
K1829.10040001 100 OHm242 400 1146 71 78 96 200 288 300 - - 70 40 100
K1829.10050001 100 Ofm2{® 500 1146 71 78 96 200 288 400 - - 70 40 100
K1829.10060001 100 Ofm2{® 600 1146 71 78 96 200 288 400 500 - 70 40 100
K1829.10070001 100 Ofme{ 700 1146 71 78 96 200 288 400 560 600 70 40 100
K1829.10040002 100 Mol 400 1146 71 78 96 200 288 300 - - 70 40 100
K1829.10050002 100 Al&lold 500 1146 71 78 96 200 288 400 - - 70 40 100
K1829.10060002 100 Mol 600 1146 71 78 96 200 288 400 500 - 70 40 100
K1829.10070002 100 Mol 700 1146 71 78 96 200 288 400 560 600 70 40 100
FEHS B e L D D1 D2 D3 D4 D5 D6 D7 H1 H2 H3 H4 ST A EF
max. kN max. Nm
K1829.05030001 50 Oizzed2 300 25 12 20 16 17,5 11 M5 M6 50 25 12 16 20 50
K1829.05040001 50 Ol 400 25 12 20 16 17,5 11 M5 M6 50 25 12 16 20 50
K1829.05050001 50 Oizmed2 500 25 12 20 16 17,5 11 M5 M6 50 25 12 16 20 50
K1829.05060001 50 Ojzzed2 600 25 12 20 16 17,5 11 M5 M6 50 25 12 16 20 50
K1829.05070001 50 oime{® 700 25 12 20 16 17,5 11 M5 M6 50 25 12 16 20 50
K1829.05030002 50 Malol44 300 25 12 20 16 17,5 11 M5 M6 50 25 12 16 20 50
K1829.05040002 50 Melol44 400 25 12 20 16 175 11 M5 M6 50 25 12 16 20 50
K1829.05050002 50 Mlglold 500 25 12 20 16 17,5 11 M5 M6 50 25 12 16 20 50
K1829.05060002 50 Malol4d 600 25 12 20 16 17,5 11 M5 M6 50 25 12 16 20 50
K1829.05070002 50 Mlol4d 700 25 12 20 16 175 11 M5 M6 50 25 12 16 20 50
K1829.07240001 72 Oi;e{® 400 25 16 26 16 17,5 11 M6 M6 72 40 15 235 30 65
K1829.07250001 72 Oi1zed2 500 25 16 26 16 17,5 11 M6 M6 72 40 15 23,5 30 65
K1829.07260001 72 Oi1ze42 600 25 16 26 16 17,5 11 M6 M6 72 40 15 235 30 65
K1829.07270001 72 Oi;e{® 700 25 16 26 16 17,5 11 M6 M6 72 40 15 235 30 65
K1829.07240002 72 Malol44 400 25 16 26 16 175 11 M6 M6 72 40 15 235 30 65
K1829.07250002 72 MalolAd 500 25 16 26 16 17,5 11 M6 M6 72 40 15 235 30 65
K1829.07260002 72 Mliglol4 600 25 16 26 16 17,5 11 M6 M6 72 40 15 235 30 65
K1829.07270002 72 Malol44 700 25 16 26 16 175 11 M6 M6 72 40 15 235 30 65
K1829.10040001 100 Of124® 400 25 16 26 16 175 11 M6 M8 72 426 15 235 40 100
K1829.10050001 100 Oim2{2 500 25 16 26 16 17,5 11 M6 M8 72 426 15 235 40 100
K1829.10060001 100 Ofnle4® 600 25 16 26 16 17,5 11 M6 M8 72 426 15 235 40 100
K1829.10070001 100 OfmE4® 700 25 16 26 16 175 11 M6 M8 72 426 15 235 40 100
K1829.10040002 100 Mol 400 25 16 26 16 17,5 11 M6 M8 72 426 15 235 40 100
K1829.10050002 100 AMlalol&4 500 25 16 26 16 17,5 11 M6 M8 72 426 15 235 40 100
K1829.10060002 100 AM3lolA4 600 25 16 26 16 17,5 11 M6 M8 72 426 15 235 40 100
K1829.10070002 100 Aol 700 25 16 26 16 17,5 11 M6 M8 72 426 15 235 40 100
FEHS B =IE L F G NK = NF = NW =
AN Y AR AHFE 235 HolH 23z 1A Ze IEHE
DIN 912 DIN 912 W= == IH=
K1829.05030001 50 Oi;2d® 300 M10x30 M12x25 2 3 4
K1829.05040001 50 Oi;242 400 M10x30 M12x25 2 3 4
K1829.05050001 50 O 500 M10x30 M12x25 2 3 4
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 5/6



°
Cl= ST A2 SlIX| SH= UM ¥ EL DS
EZS 29
FEHS B ==K L F G NK = NF = NW =
LAY AT A E AT Elo|H 23z IMA R BEE
DIN 912 DIN 912 IES VIES I ES
K1829.05060001 50 OHm2{2 600 M10x30 M12x25 2 3 4
K1829.05070001 50 OHmEd{2 700 M10x30 M12x25 2 3 4
K1829.05030002 50 AMlglolMd 300 M10x30 M12x25 2 3 4
K1829.05040002 50 AMgold 400 M10x30 M12x25 2 3 4
K1829.05050002 50 AMlgilold 500 M10x30 M12x25 2 3 4
K1829.05060002 50 AMlgolMd 600 M10x30 M12x25 2 3 4
K1829.05070002 50 AMglold 700 M10x30 M12x25 2 3 4
K1829.07240001 72  OHmEd2 400 M14X1,5X50 M16x40 1 2 2
K1829.07250001 72 OimE{2 500 M14X1,5X50 M16x40 1 2 2
K1829.07260001 72  OHmE{e 600 M14X1,5X50 M16x40 1 2 2
K1829.07270001 72 Oimed2 700 M14X1,5X50 M16x40 1 2 2
K1829.07240002 72 AMlold 400 M14X1,5X50 M16x40 1 2 2
K1829.07250002 72 Aiglold 500 M14X1,5X50 M16x40 1 2 2
K1829.07260002 72 AMdlold 600 M14X1,5X50 M16x40 1 2 2
K1829.07270002 72 AMglolMd 700 M14X1,5X50 M16x40 1 2 2
K1829.10040001 100 OHTIEd2 400 M14X1,5X50 M16x40 1 2 2
K1829.10050001 100 OHE42 500 M14X1,5X50 M16x40 1 2 2
K1829.10060001 100 OHzZEd2 600 M14X1,5X50 M16x40 1 2 2
K1829.10070001 100 OHzmEde 700 M14X1,5X50 M16x40 1 2 2
K1829.10040002 100 AlzlolM 400 M14X1,5X50 M16x40 1 2 2
K1829.10050002 100 AlgilolM 500 M14X1,5X50 M16x40 1 2 2
K1829.10060002 100 AlgilolMd 600 M14X1,5X50 M16x40 1 2 2
K1829.10070002 100 AlzlolM 700 M14X1,5X50 M16x40 1 2 2

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

6/6



